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QUESTION 1

Which of the following would generally be true for a cache to benefit from Relaxed LRU? (Choose 2) 

A. Cache has a very high hit rate. 

B. Cache has many objects bound to it. 

C. Cache is defined as \\'logonly\\' 

D. Server has 1 or 2 CPUs. 

Correct Answer: AC 

 

QUESTION 2

What is the purpose of the disk reinit command when restoring a failed master database ? 

A. Drop and recreate devices with new page ranges 

B. Drop and recreate devices with previous page ranges 

C. Restore lost sysdevices entries with new page ranges 

D. Restore lost sysdevices entries with previous page ranges 

Correct Answer: D 

 

QUESTION 3

For a 100 MB database in a 8K page server, which of the following is true? 

A. There is 1 allocation page 

B. There are 50 allocation pages 

C. There are 200 allocation pages 

D. There are 200 extents 

Correct Answer: B 

 

QUESTION 4

What dboption must be true to fix allocation errors on a system table? 

A. dbo only 

B. No free space acctng. 

510-022 PDF Dumps | 510-022 Practice Test | 510-022 Exam Questions                                2 / 6

https://www.pass4itsure.com/510-022.html
https://www.pass4itsure.com/510-022.html
https://www.pass4itsure.com/510-022.html


https://www.pass4itsure.com/510-022.html
2024 Latest pass4itsure 510-022 PDF and VCE dumps Download

C. Select into/bulkcopy/pllsort 

D. Single user 

E. trunc log on chkpt 

Correct Answer: D 

 

QUESTION 5

The first page on a device fragment must? (Choose 2) 

A. Be listed in the lstart column of sysusages. 

B. Be listed in the low column of sysdevices. 

C. Be an OAM page. 

D. Be an allocation page. 

E. Have a logical page number that is a multiple of 1024. 

Correct Answer: AD 

 

QUESTION 6

Which of the following statements about the async log service async log service (DB option) Database optionsasync log
service is true? 

A. async log service is a server-wide configuration parameter. 

B. async log service can be enabled only in an ASE server with at least 4 engines. 

C. async log service is designed to improve ASE performance by performing transaction log I/O using the largest
available buffer pool. 

D. When enable, the async log service functionality is perfomed by additional, dedicated ASE system processes. 

Correct Answer: BD 

 

QUESTION 7

The dbcc checkverify command should be run ? 

A. Only once, to aid in configuring the dbccdb. 

B. Prior to creation of a new index, to ensure the table\\'s page linkage is accurate. 

C. Prior to most dbcc commands, to ensure the database is in the proper state. 

D. Immediately following the dbcc checkstorage command. 
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E. Immediately following any non-logged action. 

Correct Answer: D 

 

QUESTION 8

What does an index id of 128 mean? 

A. A clustered index and its table 

B. A heap table 

C. A nonclustered index. 

D. A text or image column. 

Correct Answer: C 

 

QUESTION 9

What is the maximum rows per page for an APL table on a server configured with an 8K page size? 

A. 166 

B. 256 

C. 337 

D. 512 

E. 678 

Correct Answer: B 

 

QUESTION 10

What is the default for Recovery Fault isolation offline pages? 

A. 16 

B. 20 

C. 30 

D. 32 

E. 48 

Correct Answer: B 
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QUESTION 11

Which of the following are allocation pages?(Choose 2) 

A. 10 

B. 25 

C. 255 

D. 512 

E. 1000 F. 1024 

Correct Answer: DE 

 

QUESTION 12

Which of the following statements about update statistics behavior are true in ASE ? (Choose 2 ) 

A. Using sampled statistics can improve the concurrency of update statistics 

B. Using sampled statistics can improve the accuracy of statistics 

C. Using sampled statistics can improve the response time of update statistics 

D. Using statistics can be run on a subset of data, expressed as a percentage 

E. Using statistics can be run on a subset of data, expressed as a number of rows 

Correct Answer: CD 

 

QUESTION 13

Which of the following can prevent ASE from performing a large i/o?(Choose 3) 

A. There are no buffers available in the requested pool to perform the large i/o 

B. The sync property on that device is set to false 

C. The pge is already in another pool 

D. The page is in the first extent of an allocation unit 

E. The page is in a system table 

Correct Answer: ABC 

 

QUESTION 14

Which of the following statistics is stored in the sysstatistics table ? 
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A. Leaf count 

B. OAM page count 

C. Row count 

D. Total density 

Correct Answer: D 

 

QUESTION 15

Which of the following issues are motivations for using multiple tempdb databases in ASE ? (Choose 3 ) 

A. Reduced contention on tempdb system bables 

B. Reduced tempdb database space requirements 

C. Reduced contention on tempdb transaction logs 

D. Reduced contention on temporary tables 

E. Improved recoverability if one tempdb database fails 

Correct Answer: BCD 
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